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With strong adjectives, choose the correct
intensifier to fill the given blank :

A': How was your exam ? .

B : Not good. It was difficult.

(A) really
(B) dangerously

@) bitterly
(D) poorly

-
“

Complete the sentence with a phrasal verb :
When are you going to those
decorations ? The wedding was two . weeks
ago ! .
Y
call off
3 take_down
(C) read out

(D) bring about

Which sentence has the correct punctuation ?

2T i ¢
Sarah studying German; Physics and
Chemistry this year. _

(A)

Sarah’s studying G’ermaﬁ, Physics and
Chemistry this year. (

B

(C) Sarah’s studying German : Physics and
Chemistry this year.

(D) Sarah’s studying German Physics
Chemistry this year. e v

Choose the correct option to fill in the given
blank : '

of the bad weather, there was a
large crowd at the match,

(&) Despite

(B) Even though
(C) Inspite

(D) Although

30.

31.

' JB) from

32.

/LB') get used to

Fill in the given blank with one of the

phrases.
I eat meat but I became a vegetarian

five years ago.

(A) wused to

(C) never

(D) didn’t use to

Complete the sentence by selectmg the

appropnate preposition to fill in the given

blank :

He won an award because he saved someone
drowning.

(A) of

(0) for " 1§ | -
(D) .on .

Complete the sentence with a plural count
noun,
are Qez_‘y expensive.
(A) Computer
(B) Computerys ..
(C) Computeries

- _AD) Computers

33. Complete the sentence by selecting

(4 - D)

LY &

) a’, ‘an’,
the’ or <~

If an artlcle is not required, mark (D) as the
answer,

Ilike listening to
(A) a

(B) an

LC) the

(D) hyphen (-)

music,

;\ﬂi\—\

040010




Choose the word opposite in meaning to the
given word :

j&,_
CONFIDENT
(A) Callous
(B) Reserved
(C) Bold

_(D) Diffident

85. Choose the one that best expresses the
meaning of the given word :

GRAPHIC
(A) Pictorial
(B) Squarish
LC) Geometrical
(D) Mathematical

é6/- Find the correctly spelt word. -
(A) Coomitte
(B) Committee
),

(C) Comite-
(D) Comitee
37. Which of the options, (A), (B), (C), g'iven_ll_rqelow
the sentence should replace the  phrase.
printed in bold type and underlined to make '
the sentence gramatically correct ? If the
sentence is correct as it is, mark (D) as the
answer. I
If I vmuld.have realised thé nature of the
job earlier, I would not have accepted it.
(A) IfIhave had |
_B) In case I would have
(C) HadIbeen ~~
(D) No correction required
CM 2019
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Give one word for :
Account of a person’s life written by himself

38.

A=

(A) Biography

b ) Pessimist
),C) Autobiography
(D) Optimist

39.
| B

Find out the correct meaning of the idiomatic
expression :
. To kill two birds with one stone

_(A) Achieve two aims with a single effort
(B) To be well informed, to be intelligent
(C) Do the most dangerous job
(D) To rise to a higher position
40. Which figure of speech is used in this text ?

Elderly American ladies leaning on their
canes listed toward me like towers of Pisa.

(A) Onomatopoeia
(B) Simile

,,QG) Metapﬁor,
(D)‘ None of these

Complete the sentence with the correct form

41.
" .of adverb which suits the sentence :
- Felix cooks the of all my housemates
and he often makes dinner for everyone.
(A) well
(B) better :
_(C) best
(D) good

42, ~ Complete the pattern analogy :

Drama : Dramatic : : Aroma : ?
| _(A) Aromatic

(B) Immediate

(C) Biology

(D) Justify

(5 -D)

A
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44,

45,
/

4
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Select the synonym of the word vacuous
which is mentioned in bold.

Poppy was 'consistently disappointed by the
programmes she saw on TV, which were
dominated by wvncuous reality shows and
sitecoms. After years of suffering through such
empty entertainment, she finally cancelled
her satellite TV subseription, retreating to
books and the occasional well-reviewed film,

(A) cancelled
(B) disappointed
(C) empty

,E‘D) retreating

Choose the correct reflexive pronoun for the
sentence given below :

I am teaching __ to play the piano.
JA) myself :

(B) yourself

(C) himself

(D) herself

‘Rearrange the following words/phrases to
make a meaningful sentence : .
population / middle-class f’ 1ncreasmg / is /
coastlines / along

(A) Population middle-class is incr’easing
" along coastlines. -

_AB) Middle-class populatmn is increasing

along coastlmes

(C) Along coasthnes is i'ncreasing population
middle-class.

(D) Increasing populatlon Imddle class along
coastlines,

Fill in the blank with the suitable
preposition :

all the children in the class, I find
Suhana to be the most attentive.

&) Among

(B) Between
(C) Beyond
(D) Into

47. Change the direct speech to indirect speech :

e

Miriam said,
cookies.”

“] want to have some more

(A) Miriam said she want to have some more

cookies.

(B) Miriam told me she wanted to have some

more cookies.

(C) Miriam told me she might have some

more cookies.

}Dﬁ Miriam said that she wanted to have

some more cookies.

48. Fillin tlhe blank with a suitable conjunction :

~ You will fall ill

| 49.

D)

you don’t cover

yourself properly in this terrible weather.

(A) and
B) if
(C) .that
(D) aﬂef :

Fill in the blank with an appropriate modal :

He is working hard so that he
SChO].aI'Shlp

(A) may

.' (B) would
©) should
(D) ought

win a

Complete the sentence with thé correct form

of tense :

It was quarter past ten. We
news on television.

(A) was watching
(B) is watching

_AC) were watching
(D) watching
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51,

52.

53.

54.

55.

56.

D)

Whose reign was called the Golden Age of
Mughal Era ?

(A) Akbar
(C) Shahjahan

(B) Jahangir
(D) Humayun

What is the full form of IAS ?

(A) Indian Airport Safety

(B) Indian Administrative Service

(C) Intelligence Association for Safety
(D) None of these

.What is the national currency of Australia ?

(A) Australian Dollar
(B) AustralianEuro
(C) Australian Pound
(D) Australian Renminbi

In India, all the Union Ministers are
appointed by

(A) The‘ILIoi:ue Minister
(B) The President

(C) The Vice-President
(D) The Prime Minister

Deficiency of causes Rickets.

(A) Vitamin A (B) Protein

(C) Vitamin D (D) Vitamin B

“Statue of Liberty” is located in
(A) The United States of America
(B) United Kingdom

(C) France

(D) India
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59.

| 60.

61. .

63.
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(A) 4

Which fibre is called the ‘Golden Fibre’?

(A) Cotton (B) dJute
(C) Rayon (D) Wool
The Cellular Jail built by Britishers in the

Andaman and Nicobar Islands is known by

which of the following name ?
(A) Maut Ka Kuan '
(B) Kala Pani

(C) Antim Yatra

(D) Band Darwaja

In India, a full-term member of Rajya Sabha
is elected for how many years ?

B) 5

(C) 6 (D) None of these
Hitler was the dictator of which country ?
(A) Russia (B) Egypt

(C) France (D) Germany

The First Battle of Panipat was fought in
which year ?
(A) 1576
(©) 1556

(B) 1526 ~
(D) 1781

“Incredible India” is the tagline of which

organisation ?

(A) Indian Railways

(B) Swachh Bharat Abhiyan . »
(C) Indian Tourism

(D) Air India

The festival of ‘Bihw’ -is traditionally
celebrated in which State ? =
(A) Bihar (B) Punjab

(C) IKerala - (D) None of these
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64. DBaghdad is the capital of which country ?

65.

66.

67.

68.

69.

(9-D)

(D) None of these

(A). Thailand (B) Mongolia

(C) Iraq (D) Somalia

Who wrote Panchatantra ?
(A) Sudraka

(B) Vishnu Gupta

(C) Vishnu Sharma

(D) Bharata Muni

Name the autobiography of Sachin

Tendulkar.

(A) Wings of Fire

(B) Atmakatha -

(C) My Country My Life
(D) Playing It My Way

' What was the re;l name of Birbal, a court

member of Akbar the Great ? _
(A) Mahesh Das (B) Mukesh Rai

(C) Shyam Das (D) Ramtanu

. \ﬂ*'?;
Intern%i_t(ignal Women’s Day is celebrated on
(A) 5th August (B) 14th February

(C) 8th March (D) 18th March

‘Name the first Indian to win geold in

Gymnastics World Challenge Cup, 2018.
(A) Mary Kom ;
(B) Vinesh Phogat

(C) Dipa Karmakar

-
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70. Which Mughal ruler is known to have

71.

72.

73.

74.

75.

(10 - D)

installed a ‘Bell of Justice’ to facilitate his
subjects in getting their cries for Justlcg to be

heard ?

(A) Akbar (B) Jahangir

(C) Aurangzeb (D) Humayun
bits is equal to a byte.

(A) 8 (B) 16

(C) 32 (D) 4 G

Which of the following Indians won the Nobel
Prize in Literature ? v

(A) Rabindranath Tagore
(B) A.P.J.Abdul Kalam

(C) Mahatma Gandhi -

(D) Sarvepalli Radhakrishnan

Which of the following diseases is not caused
by a virus ?

(A) Influenza
(C) Hepatitis

(B) Athlete’s foot
(D) None of these

Which options represent the correct order in
which these events occurred during the

. Indian freedom movement ?

1. Death of Lala Lajpat Rai

2. Chauri Chaura Incident

3.° Jallianwala Bagh Massacre

4. "Formation of Muslim League

A) 4,2 3, 1 ® 2.4, 123
© 4,3,2 1 (D) None of these

Which of the ‘sportsperson — sport’ pair is
wrongly matched ?

(A) Saina Nehwal — Badminton

(B) Sakshi Malik —Tennis -~
(C) Mithali Raj — Cricket

(D) Deepika Kumari — Archery
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The number of all possible matrices of order
3 x 3 with each entry 0 or 1 is :

A) 9 (B) 18
(C) 27 - (D) 512

A pole 6 m high casts a shadow 2J/3 m long
on the ground. Find the Sun’s angle of
elevation.

(A) 380°
(C) 90°

(B) 60°
(D) 45°

Solve the following equation for roots :

-Tx+12=0¢

(A) x;=1,%5=2

B) x;=2%,=3
(©) X1 = 3, Xg = 4
(D) X1 = 5, XQ = 6

The HCF of the smallest prime number and
smallest composite number is

(A) 2
®) 1
©) 4

- (D) None of these

A coin is tossed three times. Find the
probability of getting exactly two heads.

(A) 5/8 .(B) 2/8
(C) 12 ~~ (D) 3/8
Simplify :

(64)12
(A) 12 (B) 2
(C) 8 (D) 14
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(A) -14 B) -4

() -3 (D) -5
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JA) 6,9,12 (B) 8,6,12
(C) 3,9,12 (D) 8,15,12
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83.

84.

85.

86.

87.

88,

(12 - D)

o of a line perpendicular 1,

2::.(;.3 cli:altsn?nining the points (=5, 3) anq
(2, 6).

(A) 4/9 (B) 3/5

(C) =37 (D) =7/3

The sum of three numbers in Arithmetic

Progression is 45 and the sum of the squareg
of the smallest and largest of these numbers
is 468. Find the largest number.

(A) 15 (B) 16

(C) 18 (D) 21

Withbut replacement 2 cards are drawn at
random from a pack of 52 cards. With what
probability can you say that both cards are
black ?

(A) 27/100
(C) 25/102

(B) 1/4
(D) 27/102

The lengths of the sides which make the right
angle of a right-angled triangle are 6 cm and
8 cm. What is the length of the hypotenuse ?

(A) 12cm’ (B) 10 cm
(C) 1l4cm (D) 20 cm
A family has two children. What is" the

probability that both the children are boys
given that at least one of them is a boy ?

(A) 3/4 (B) 2/3
© 13 (D) V4

The common difference of an AP in which
825— 3.12'—' —_ 52 iS

(A) -14
(C) -3

(B) -4
(D) -5

Three numbers are in AP, If the sum of these

numbers be 27 and the product be 648, find
the numbers,

(A) 6,9,12
€ §,9,12

(B) 3,6,12
(D) 3,15,12
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#(C) 51232
(D) 513 ¥ifi2
90. SR 1l 11 R, T # 5000 SR
T R | 9 W s e i |
(A) 1109t B). 60Tt
(C) 2209 t-(’D') 70 ot
¥9}.-mmﬁméﬁmz5% |qﬁq§;
a1 H Fer fan s, @ e =
CERIERICI R G A1 IR
(A) 87 _(B) 27
©) 77 (D) 57
Lz/,qﬁﬁaﬁmé:aﬁwz 3:47% U ¥ ¥, @
woft o i |
(&) 40°, 60°, 80°
(B) 20°, 40°, 60°
(C) 30°, 60°,90°
(D) 90°, 180°, 360° g 34
93. & WEM F LCM 64699 B, HCF 97 & iR
demei # ¥ 2231 } | gEQ @em wW
i |
) 2813 (B) 2814
(C) 2815 (D) 2816 _
94, T Hehgl Iul B Gwe 9625 {2 S|
1386 T2 & | ¥ g W o (Rm) A
=T 3 hIfg | :
A 2% (B) 1%
(©) 55% (D) 3:5 @it
CM 2019
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89.

90.

91‘

920 g

93.

4.

(13 = D)

I'ind the lateral surface area of the cuboid
whose dimensions are

1=22¢em,b=12¢em,h =75 em
511 ¢cm?
510 cm?
512 cm?

(A)
(B)
(®)}

(D) 513 ¢cm?2

A bicycle wheel makes 5000 revolutions in
moving 11 km. Find the diameter of the
wheel.

(A) 110 ecm

(C) 220 em

(B) 60cm
(D). 70 em

The mean of eight observations is 25. If one
obsewaﬁon 11 is excluded, find the mean of

the remaining observations.

(A) 37
©) 77 .

B) 27
(D) 57

If the angles of a triangle are in the ratio of
2 :3: 4, find all the three angles.

(A) 40°, 60°, 80°

(B) 20°, 40°, 60°

(C) . 30°, 60°, 90°
(D) 90°, 180°, 360°

The LCM of two numbers is 64699, HCF is 97
and one of the numbers is 2231. Find the
other number.

(A) 2813
(C) 2815

(B) 2814
(D) 2816

The areas of two concentric circles are
9625 cm2 and 1886 e¢m2. Find the width of

the ring formed by them.
(A) 271cm ' (B) 1lecm
(C) 5'5cm (D). 3:5cm




95.

97.

CM 2019

1,2,3l,§,6,73iaﬁ$tﬁaﬁniﬁt%m=ﬁ33iiﬁ
T Fed B e 7 S e §

(4) 60 (B) 40
(C) 20 #D) 30

k& WH I hif ARk g, 3), 6, -2),
(-3,4)TE |

(A) 3
(C) -3/2

B) -2

(D) Eﬁftaﬁqﬁ

uﬁ@aﬁ?ﬁﬁaaﬁvma;wam 14 91t 2,
@ IEh TR T Hifr |

(A) 363H (B) 28 T
(C) 143 D) T & 3 T

428 % PR % & A IR 51wy 9
(A) 17-64 Tt (B) 2-4%t
(C) 4-2@:& (D) 2-1@Tﬁ

AW x+iy) 2-3D) =4 +i8, q x 3 y*
(s W I i |

(A) i:=14.-"13,y=5:'13
(B) x=5/13,y=14/13
AC) x=2/18,y=1

D) x=1,y=2/13

_)B/W%amm 24 3R 15%5‘351}

9Ty § | If T ET YRR A STwere H
T e ° Eied 9Ed 2, 9 39 TS

YHR & S Bl HH-BHH fhadl G H

@il g 2

(A) U 7S =2, GHU 7S =3
(B) 9B #IE =6, THU HS =7
(C) UEHl SIS =4, GO 18 =5

D) T e =5, G S =8

95'

96.

97.

98.

99.

100.

(14 - D)

y 3-digit even numbers can be

n
5o - IE 1,2, 3, 4,6, '?Wlthout

made -using the digits
repetition ?

(A) 60
(C) 20

(B) 40
(D) 30

Find the value of k if the points k, 3), (6;,-2),
(-3, 4) are collinear.

(A) 3
(C) -3/2

(B) -2
(D) None of these

If the diameter of a semi-circular protractor is
14 cm, then find the perimeter.

(A) 36cm (B) 28 cm
(C) 14cm (D) None of these

The radius of the largest right circular cone
that can be cut out from a cube of edge 4:2 cm

is -

(A) 1764 cm (B) 2-4cm
(C) 42em (D) 2-1cm
Find the real values of x and y if

(x+iy) (2-38i) =
(A) x=14/18,y = 5/13
(B) x=5/13,y =14/13
(C) x=2/18,y=1
D) x=1,y=2/13

4 +1.

Two brands of chocolates are available in

packs of 24 and 15 respectively. If Rama

needs to buy an equal number of chocolates of
both kinds, what is the least number of boxes
of each kind she would need to buy ?

(A) 1%tbrand =2, 20d hrang = 3
(B) 1%tbrand = 6,27 brand = 7
(C) 1%tbrand = 4, 20d hranq = 5
(D) 1%tbrand = 5, 20d hrang = 8

646876




